
 課題  数列_第 04回 

 

学年[ ２ ]年 学科[ MI・AC・BC ] 番号[   ] 氏名 [           ] 

(1) 1 1 1 (4 1) 1 (4 1) ( 3)(1 2) 2 (2 1)
1 ( 3) 1 ( 3) 8 8

n

n
X n X nS n X − − − − − − − ⋅ −

= − + ⋅ − − = = − − − − 
 

９ 等比数列の和 2 6 18 54 4374− + − + −  を答えよ。[問 1.9(3)]      3280−  
 
 
 
 
 
 
10 次の和を求めよ。 
(1) 11 1 3 3 5 9 7 27 9 81 (2 1) ( 3)n

nS n −= ⋅ − ⋅ + ⋅ − ⋅ + ⋅ + + − ⋅ −        [※解答は脚注] 
 
 
 
 
 
 
 
 
 
 

(2) 
1

1 1 1 1 1
1 2 1 3 2 4 3 1

n

k k k n n=

= + + + +
+ + + + + + −

∑       1 1n + −  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


